°
EZalLAEI SH= o|l— o= - EH (o]
EEI'——l = Ac>"5-7|‘ AT E'I'DIE ™ JE, B E|'|=I
=5 MY/MIE o0l x|
oYy
THE:
izt 22 0|= EN AW-6060.
a3 ctel Eelotolg, 28 7eEl 2.
:l:l'.'.:'_1 DI"I'E'I-
RrodM Atst X2, £ & Ues EE2tAE R i, 44
HH.
Jg chels 2 HE 2280 2,4 749
&ZF PVC 2KVt /IS, AZE T8
Ol= Eot 274X =t (x| REE.
AdM ol E2 1™ A 7ol Y =3
St U IHEE EH S2F.
=M
- A + 40mm -
32
| | 4
=
| = —
L |
=]
1 = =
L
S |
=
A | B _
L -
£ 29
SE gl
FEUHS & MY Bt A B D H L 33
N
K0223.150303 HIOIXI B 150 48 M8x25 80 200 1000
K0223.200303 ol B 200 48 M8x25 80 250 1000
K0223.300303 ol x| B 300 48 M8x25 80 350 1000
K0223.400303 ol x| B 400 48 M8x25 80 450 1000
K0223.500303 ol B 500 48 M8x25 80 550 1000
K0223.150302 A B 150 48 M8x25 80 200 1000
K0223.200302 FZES| B 200 48 M8x25 80 250 1000
K0223.300302 Hy B 300 48 M8x25 80 350 1000
K0223.400302 FZES| B 400 48 M8x25 80 450 1000
K0223.500302 Hy B 500 48 M8x25 80 550 1000

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

1/2



EcIAE S Y371 9= LR 0= FE &l BEIY IG‘I‘

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



